Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining biank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Note: Answer any FIVE full questia;i X

1 a Find L (06 Marks)

(cosat = cosbt) A

b. Express the functlon mﬁbﬂns of unit step function an& hence find Laplace transform of

&
S
ﬂo:{

cos % n

(07 Marks)

c. Solve y (y),@;k%y () +3y(t)=e', y(O) y ((% 1 by using Laplace transform method. -
(07 Marks)
2 a. Find: (i) L‘l(log(s aal: (06 Marks)
s+a
Find L] —>—— 07 Marks
b. ((sz +a2)2) ( )
c. Given f(t
(- {@_ ‘
(07 Marks)
g
3 a .M.btam Fourier series formf (X) (06 Marks)
) ‘t}& dt ;A:" =
b%m Fmd Fourier senes; (07 Marks)
c.
(07 Marks)
4 a. Find Fourier series for f‘(x)“‘ x|, -t <x<m. (06 Marks)
. . . 0 -2<x<0
b. Obtain Fourier series for £ x)= ) (07 Marks)
el 1 0<x<2
c. Find the Fouriér séries upto first harmonic from the following table:
) 0[{1/2 |3]4]5
418(|15|7]6]|2
(07 Marks)
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Module-3
5 a. Find Fourier transform of f(x), given:
L, [x|£1
f(x)= and hence deduce that J —%— (06 Marks)
0, |x[>1
b. Find the Fourier cosine transform of wﬁ%‘%@
4x 0O<x<l 9
f(x)=44-x l<x<4 (07 Marks)
0 x>4
c. Solve u_,+4u,,, +3u, = 3g ?wén up=0,u; =1 using Z f‘ransform (07 Marks)
OR e ‘
?&v‘?;w«‘ 0 .
6 a. Find the Fourier sint nﬁngform of ¢ ™ and hence evaluate j?medx . (06 Marks)
/ +x
@% -
b. (07 Marks)
C. (07 Marks)
7 a
b.
c. k
Q‘%&— 2.09 by usmg l\/ﬂlne s predictor and corrector method.
% » P - (07 Marks)
IT LIBRAR
OR %“% B,{AN%ALQRE 560 037
8 a USmg modified Eq%br s method find the value of y at x = 0.1, given %’- =—xy’, y(0) =2
L @3 X
: (06 Marks)
b. +2y y(0) =0 gt x'= 0.1 taking h = 0.1, by using Runge-Kutta 4™ order

w (07 Marks)
c. Find the value y at x = Q%S g ven n 3 =x-y’ and
dx
x |0] 02 04 0.6
y |10]0. 0200@2 %Q795 0.1762
By using AdarfLs Bashforth predictor and corrector method. (07 Marks)
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2 . V?«w‘* '
solve ﬂ B &) ~y”* forx =0.2 given x = @fwgl and ¥ =0 by using Runge-Kutta
dx? dx % <
method. )
Derive Euler’s equation in the standard fofm % d (af'J 0. % N
53;% ay dx ay .
Mﬁ% p
»:”mand y(1)=1.

d’y
ven —= =2 :
1ven dx2 y
o - @*
06841 | 4. CMRIT LIBRARY
y 1 1041& ‘ 1179 1.468 g@;‘: fm BANGALORE - 560 037

by using Mﬁﬁl@e%s method.
Prove tb:‘é%@ﬂle shortest between two po 1nts inaplaneis a stra1ght line.
o~ m&% By
j [x+y+(y)’JX with y(©0) = Lyd)=2.
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(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)
(06 Marks)

(07 Marks)
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